Predecessor and Successor
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[~ Predecessor- The number obtained by subtracting 1 from a whole number

(other than 0) is called the predecessor of that whole number.

Let’s see some examples:

The predecessor of 89999 is: 89999-1 = 89998

The predecessor of 100000 is: 100000-1 = 99999

[~ Successor- The number obtained by adding 1 to a whole number (other than 0)

is called the successor of that whole number.
Let’s see some examples:
The successor of 9999 is: 9999+1 = 10000

The successor of 10006 is: 10006+1 = 10007

Predecessor Numbers Successor
30,87, 891 30,87,892 30,87,893
9,82,37,460 9,82,37,461 9,82,37,462
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